UEREHKEHDRETESR

1 FEicgEE  (10knE TOHE (A1)
SRICHFIHSHRR SFocH10H 18 I
X 4y 1 km?»*5 3 kmE T 4 km/»%H 6 kmE T 7 km?»>5 10kmE T
OB E RHT HGE 1704 210 220

Hi 5 HO¥ ¥ n = %
s 1 1 He 100km & T OS> 1 kmiz>& 189214
w 2 H e 100kmZ#8 2.  300kmE CTODE5 1 kmlizo & 169204k
% 3 H e 300kmZ# 2. 600kmE TODERSY 1 kmlizo & 129854k
% 4 Hir H 600km % 8 % % ¥Ry 1 kmiz > & 7TH54%

3 HERFEEORETE
PHEOLTWRFIEZ L. BEIeOXERICEDLLDE L, 0T, #FXEOFROEESD
WCHTEOER AT U, WKL 10 (EBEBNLOH T MEES) 2FUZEL2MUETIAL, 10MEAL
L L7254,

728, 60kmE B 2D HDIIBIRED B,

(et 5
O100knEA T D5 & L0FAIBO A E 0PI ) 11T 5,
O101kmEA EDEIT50M 2 U IUFETLA L, 100 AL E T2,

4 INGEEREEE
FLH - WHOXHZ RIS 256 L ORIXH & o X 2 L CRET 25813, §HE L2 EE
IR EE T L - EROMGEE@EREES & LTI00M 2% %,

I

5 M7 A mE
L OEROR ORI Fr 2 EErn & LT, BROLZRET L5650 EREEGZET T 5,

6 HEFREBOER & o k% 2 Lo gl o5 3R 2 d L ORI 556 OB @ik g EE
WHRELUCHES v OQDEEHE S v (CESEFRE LA atolieEs  RUER) (2. WEREEE
E ERAERR O FREX RN R 2 2 v SUTE SRR T 0 I XD R L B3 v UTEER R T ric X
L NERESEMOIRZEEE &L O2=E  (INEHE) ZiE+ 2,




